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In a single throw of a die, the probability of getting a multiple of 3 is
@ 12 | BVY1/3
(C) 1/6 D)y 2/3

S LS @ (pern aPlyb Qumps daL g erarm 3 6 LksTs Quuugharar Blapsse,

wmg?
A 12 _ (B) 1/3
©) 1/6 | D) 23

The product of two consecutive numbers is 4032. Find the numbers
(A) 61,62 ' (B) 64,65
v 63,64 | D) 62,63

Qran(h S BE506s aaraaan QUssD 4032 aaflld 255 ransman arans,

(A) 6162 - - (B) 64,65

(©) - 63,64 (D) 62,63

Two equal sums of money were lent at simple interest at 11% p.a. for 3% years and 4% years
respectively. If the difference in interests for two periods was ¥ 412,50, then eaclil sum is
(A) 3,250 | (B) % 3,600

(Mf 3,750 | D)y X .4,250

o Qsmens sy@mabe 11% salaiy dssdo 3 12 aandsense GsrRssiLg. G
yarey Asmens =iCs saflailly ddssHd 4 % SemOsEEED ASTOSSILLLE. saie igsaedr
e95Swrsd T 412.50 erafler QarhHiEsuul L Asmans eramig)

(A) @ 3,250 p (B) ¢m. 3,500

(C) @ 3,750 (D) . 4,250
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4, Calculate the mode of the following data. |

Size ofsh_ows: 4 | 5] 6 10

No. of papers: | 15 | 17 | 13 | 21| 18 | 16 | 11

~
o]
de]

Ay 9 ' B) 8

V7 | RGN

Ep&smamid Yeraf] aﬁ]mggﬁgf)@ WP&[H STas.

sravafsaflen oaTaysar ; 456|718 9]10

eflpm Cemgseflen eramenildens : | 15 | 17 | 13 |21 | 18 | 16| 11

@A) 9 | ‘®B) 8

<€ 7 D) 5
5. “Find the approximate length of the longest pole that can be put in a room 10 m x 8 m x 5 m.
(A) 15.25m (B)\/13.75 m

(C) 1435 m (D) 12.55m

10 8 x 88 x 5 18 S{eTe|araT 20 Sienmulled c;meua;a;uu@m Bla Berwomear Camedlen g"\iGTT@_IITGUI'Q]

(Camymwions)
(A 15.25 5. B) 13.75 8
(C) 14.358 (D) 12.55 8 ;
6. In a well shuffled pack of 52 cards, a card is drawn at random, find the probablhty of
diamond or kind card
AN 413 B) 5/13
(C)y 6/13 _ (D) 9/13

B&E smadg massiulL 52 LG Asra() L6 sligdlmbs Tramib wapudd gm S0
T(R&EEILEADS. g LW oidag i ELLTs @)més Hapssey

(A) 413 _ (B) 5/13

(C) 6/13 (D) 9/13

DJGS/19 4 - p



January 1, 2009 was é'Thursday. What da}‘r of the week lies on Jan 1, 20107
(A)  Thursday (B) Wednesday
. (CMFriday (D) Saturday

2009-b e genaufl 1-b Codl elwimpsdipeio. erafled QOlO:Lblc%;l{’.,GB:GT@ soameurfl 1-1b Gg)gﬂ GTauTE

&ipano?
@A) cfwmpen : B user
©  Qaudraf (D) safl

A bag contains one rupee, 50l-pairis and 25 paise coins in the ratio 5:6:7. If the total amount
is ¥ 390, find the number of coins of each kind

(A) 200, 280, 240 , (B) 240, 200, 280
(€™ 200, 240, 280 (D) 280, 240, 200

@ enuuiled g epumi, 50 eugr LHML 25 eusT Brevmukiser wapGw 5:6:7 eranm Gﬁ]é]g,gﬁab '

o drerer, Sibg euwlle Awrgsn 390 muTl QmbSTeD, Geuteur, BraTpD 6ThE eramraidmaude
BoEED? _ .
(A) | 200, 280, 240 : (B) 240, 200, 280
() | 200, 240, 280 , (E)) 280, 240, 200

If a® + b =117 and ab = 54, then find the value of gl
‘ a-—
- ; oy
av’s | P ® =
C 7 D —
< . (D) =

a® +b% =117 LDﬁ)@rL'D ab =54 eafllé @ig -6t m‘é,]ti:u HTEHTS
- ;
| 12
(VRN B —
' ' 11
c 7 D
©) (D) 13
5 | ~ DJGS/9
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10.

11.

12.

A man riding a bicycle, completes one. lap. of a circular field along is circumference. at the

speed of 14.4 km/h in 1 mt 28 sec. What is the area of the field?
(A) 7958 sq.m. BN9856 sq.m.
(C) 8842 sq.m. _ (D) none of the above

S® waflgar wssdafler aul Lirsealeer G sms snndprean, seuaian Casd 14.4 £.18/wesfICpiibd.
Sieuan T(HSHHCsmeTEnDd Crrn 1 Bl b 28 Gmmgwirenme iFem UFLliL] ereuelema,?
A 79588 | = (B) 9856 &

(C) 8842 & _ (D)  Geveu ggdlaena

A speed of 54 km/hr is the same as
(A)  13.5 m/sec. (BJI5 m/sec.
(C) 21 m/sec. (D) 27 m/sec.

54 8.8/ Geuslomang) ED&SMTLUDMET THNDEF FIOD?
A)  13.5.8/e8 C Y (B 15868

(C) - 21.8/e | (D) 27 8/a

A constable is 114 m behind a thief. The constable runs 21 m and the thief 15-m in a

mlnute In what time will the constabIe catch the thief?

- (A) 16 min. ' ' | By 17 min.

© 18 min.  OM19 min.

R sreuei, FmLeer efl 114 15 Genearmed o_erermi, sreuet HLOLSHHE 21.L8 Ceusgdlapibd, SHmLen
15 8 Geusgdlaud @Lq_émnai), sreua ereucuatey Crrsde HmLemen’s i tiuri?

A) 16 SOLsH | ®) 17 HOsHe

(€) 18 A58 : D) 19 AA_sda
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13.

14.

15.

16.

Name the Indian representative, who attended the International Socialist conference held
in Germany in 1907 =

(A)  Anne Besant : (B)/Madam Cama
(C)  Ajit Singh : (D) Gopal Singh

1907-1b e (®, Agginafder paLdupn sieGss Comagsalls smesTRdd sabg Came Qb

Qg dblgl wri? _
(A)  oeref Quaan ' (B) CuLb som
©C) oS élm _ (D) Carume S

Who established the Indian Home Rule sdciety in London in 19057
(A) V.D. Savarkar (B) Bhupendra Nath Datta

(CVShyamji Krishnavarma . (D) V.V.S. Aiyar

1905-1b amr(p) e afle) GHmmsliuL Ghswu Ganmd Hed LI wTymed ST hsULILL &7
(A)  &llig. FuUTESETT (B) uCupstprd s5sT
(©C) Swmbg é]@@ig,asﬁmfrmn . (D) efl.ef.erev i

Vivekananda founded the Ramakrishna mission in .

AWV’ 1898 A.D. - B) 1897 A.D.
©) 1858AD. . (D) 1859 AD.

" eGeussmanbsiT, Qo meipewnT Lm_‘e_'r;mg Qam_radw e H ergl? -

A)  £.9.1898 (B) £.9.1897
(C) £.9.1858 - D) &.9.1859

The populaf greeting word ‘Jai Hind’ was introduced by whom?
(A)“Subash Chandra Bose (B) Mahatma Gandhi
(C) Vivekanandha (D) Arbindo Ghosh

‘Qegws el eTanm QUMPSEI (PY&55S SAPPSLILIESS W6 wmi?
(A)  sumey sndr Gume (B)  wargom ST
(®) aﬂ@eya;rraﬁ;’r;g,r’r (D)  =irlps Caey

q : - DJGS/19
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17. Which one of the following rivers is shortest in length‘?'
(A)  Chambal - B Damodar
~(C)  The son ' . (D) Kaveri

&éa;eﬁo‘rl_eugbgum BlaFAMu oym erg1?
(A sbud (B) srCwrsm _
(C) e - ' (D) smellf

. 18. Match the following :

Theories Propounded by
(a) Geographical cycle 1 _ Walter Penk
(b) Geomorphic cycle 2 W.M. Davis
(c) Peneplainationcycle 3.  Crimkey

~(d) .Pedeplaination cycle 4. L.C. King

@ ® © (@
(AN 1 '3 4
B 1 2 3 4
<€ 3 1 4 2
D) 4 1 ~2 3
lﬂleifra.l@sumlau@mgp QuIm(mH & 58 :

Gaporiser | elleTéEaanraeT
(a) yelullwed &pnHé 1. GUTELST GlLIGS
(b)  yelluymelwed sLpHa 2. W.M. GLelev
() Queillenemen spHé 3. Hfnd

4, L.C. &im

(d) GugiGenenerr HLpbHd

(a) (b) (© (d)
(&)
®)
©)
)

0 s o o
TR N

R
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19.

20.

Match the List I and List IT and choose the correct éode given below :

List I
(a) Fort of Lahore
(b) The Jami Mosque
(c) Red fort
(d) Akba'r-’s Tomb

. 00 by e

) (b) (c) (d)

(a
AN

1 4. 3
B 2 4 1 3
() T WL ] 2 1
D) 3 2 1 4

U g I
(a) omear GamlepL

(b) gl wed

(c) QerGsmlen

oW

(d) =sufler gord

(a) (b). @ -

A 2 1 4 3
B) 2 4 1 3
© 4 3 2 1
O 3 2 1 4

List II
Au-rangazeb
Akbar
Jahangir
Shajhahan

Cutguwied Te e il qwe IT o Qurmpsdl sflwrer eflent_tnws Spsaam_sunmer CoTbESHEH eT(gIS.

uL'_L:!.U_!ei) 11
S TEIGEL]
él%ufr
soamTEIST
agTeRaD et

Who was the founder of Aligarh movement?

(A)  Badruddin Tyabji
© Mirza Ghulam

SOl @ﬁ.lé;&;;_’r,e;ﬁ)g, HmeSlweur wimri?
A)  usmden Huwirligh

(C)  Srer gemb

(B) Sir Sayyid Ahmad Brahlvi
(DM 5ir Sayyid Ahmad khan

(B) & answig siswg el

(D) & enswig &G Sr6n

9 DJGS/19
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21.

22,

23.

Who became the Chief Minister of Madras Presidency of 1920?
(A A. Subbarayan Reddiar (B) T.M. Nair
(C)  P. Theagaraja Chetti PN (D) C. Natesan

1920-b e Ceenenar wrhle (pswamwésrrs ugel eudsseun wmr?
(A) g sburmwer QrlgwmT (B) g.erb. prwm
©) 9 Awursyrg Qe gwmt (D) C.pGLeen

The President of India appointed two more -Election Commissioners to the Election

Commission of India for the first time in the year

(A) 1989 ' (B) 1990
(C) 1993 (D) 1994

Qpg Csiige) ymamusdnG smbsors @Qrar® Csisd oameamuTeaTismer GG WUTES Sneeur
paapsedle Huflss <66

an"1989 (B) 1990

© 1993 : | D) 1994

Article 148 of the Indian Constitution deals with
(A)  Advocate General of the State

_ (B) Attorney General

(C)fComp’troller and Auditor General of India
(D)  Special Officer for Minorities

@S Sirdlwemoliy eid 148 efleumdlliLg

@A) wrfe SiaGs Qmamyeo

B) el Qgeryd

(C) saaew g,as&ﬂ&mas LOHMID a;L@DerL‘@ 2idlamil

(D)  AmuremenwulenmEstear iy <igeleiT

DJGSN9 | .10 B
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24.

95.

26.

Article 243 C of the constitution of India deals with the
(A) gram sabha : (B) reservation of seats

(C)“composition of panchayat : (D) duration of panchayat

@pdHu sirdlweeninier 243 C 8 auellynsgieug
(A)_ Symo senv 3 - (B) @L&E®H und
(©) | UEBETLSS) eI (D) uEpETwEHE LFN&STELD

Which is the first Municipal Corporation in India?

(A)  Delhi ' ‘ (B) Calcutta

(C)  Bombay | © (D)WMadras

@pdwuredler (pge rBsTITLSl erg)?
(A)  GQreva (B)  seslLm
(C) umbGu ' ) (D) Quilgmev

Which of the committee has both representation-from Lok Sabha and Rajya Sabha

1 Estimate committee

2 Committee on subordinate legislation

3. - Public accounts committee _

4. Committee on public uhdertakings

A 1,234 ' _(Bfll,z, 3

) 1,3,4 D) 1,3

 unpmeswamssar Spsamu pHmib G Famu 2 pLiblaniadr 2 aTer LTy DG @(PSSET WITeneu?
(@BLOGTDS CY oo ol : @b GW

1. oS (s G
2. glewew s LBwpmise CuRleme @

7 QuTg HasHES & (D

4. Quirg Sienm @

(A) - 1,2, 3 oomb 4 - B) 1,2 womb3

(C©) 1,3 bomwb 4 D) 1 womwn 3

11 . DJIGS/N9

[Turn over



217. Which one of the following pair is not matched properly?

(__A)'/Nationél commission for backward clasé Co— . 1994
(B)  National commission for women - 1992
(C)  National Human Rights commission - 1993
(D)  National commission for minoritieé k - 1993

Sipsameaupble ereneu sflwre Qummbgeddane?

A YGdu@ssiL LGL.W@SG&WGM Cgélw gevammud  — 1994
(B)  wsefltsrear Caflwu gyememmid ; - 1992
(©)  Gsélw wellg 2 Maw < EDETHLILD - 1993
(D) AmurerewuiarmasTar Cofl <y ememruid — 1993
28. Mangrooire plants meet high osmotic pressure in the soil, they overcome the problem of

water uptake‘ by

(A)/accumulation of electrolytes in the vacuole of the cell
(B) increase in the root and shoot ratio

(C)  reduce the respiration rate

(D) reduce the transpiration rate

LorrréJ@@m STEUITIRIEET LOGRTENTIGYTeT SISSLILIGUITET HEVI0MeE SN(PSEHMmS il Qaradarmer. Bi
&;ﬁ\@&gm@ sMAQFIW Beneusar. |

(A)  erews  Crrevel Haamer Ogaad s a;r.rg')gu Qeupil_risafldy @eSlsdenmer

B) @éur'r HMILD Feir(H) aﬁiéﬂgpgmg.@@wﬂéaﬂmmm

(C)  seurs semeneu Gannadlemen |

D)  Borelld Cursdlen siemeney @ennédemmen

DJGS/19 Ty 12 | B



29

30.

Match the following and select the correct answer :

(a)
(b)
(c)
(d)

: (a
(A)\/S

(B)
(©)
D)

Egg
Fertilizer
Honey |
Leather
) (b)
4
1 3
4 2
2 1

(0
2
4
1

3

1.
2
3.
4
(d)

1
2
3
4

Brown revolution

Golden revolution

- Silver revolution

Grey revolution

&Qm@@ummg‘)@mmu Qumrmsd eflwrear ellanL_eow Caire] QFls :

(a)
(b)

©

(d)

(A)
(B)
©)
D)

apLlen
2_[Ib
Caeir

Camed

(a)

3
1
4
2

(b)

4
3
2
1

(©)

2
4
1
3

i,

L o I

UYL Yl &
Quimenr Lyy_él
Geuarefls L&

FMbU6 LyL_&

The first vice chairman of the NITI Aayog was

(A)

©

Mr. Bimal Jalan

Mr. Y.V. Reddy

(B) | Mr. Rajiv Kumar
(DWr. Arvind Panagariya

B8 2, Cuimgdle pged gienants Senaveuir

(A)
(©)

Mr. Swed ggevmen

Mr. Y.V. Gylig

(B) Mr. grsleu gLom

(D)  Mr. omeips uerrasmilwm

13 DJGS/19
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31. According to the report of the Government of Tamilnadu, the state is occupied the

— place in the National gross domestic product per capita in 2015-16.
@) 10m | ' | BV 110
(C) 13% ' | (D) 12tk

2015-16 sllps oiyfler ggﬁ]é;sm&L'Jumr, pg wrhlon Csilwu ereflemar som Gwrgs o @mHTl

2 pusuiley ——— QL b auflafmgy.
A)  10eug. ' | (B) 1leug
(C)  13aug ' D) 12eug
32. The ————————— impose tax on profession.
(A) Central Government (BP/State Government

(C) Both State and Central Government (D) Na.tionalised banks

- Qamfled auifl eflciLig
(A)  pBheuer sirs B) Lorrrrﬂén Er:

(C) wsHw wHmb LIl BTe (D) Csflwvwwrestiud L eukd

33. Central Leather Reseérch Institute is located in
(A)  Karaikudi .~ (B) Vellore

(C) - Mysore (DJJChennai
oS Comed rmiuss Flmeuatd SienbgIeTer @L_L'p

(A)  sTearsEy Y (B Geugnt

C) ewgEr (D) desanan

DJGS/19 ' 14 ‘ B



34.

35.

36.

Which country in World’s first driver less bus service began for a short distance using Radar

technology and motion sensors?
(A)~/ France (B) India
(C) China (D) Bangladesh

o e g BIliged psen (WPsons @ BBT Gaowrwd Gumbg @wss Grumt whmb Grager
Qaangmi Qgmlevm L gg,faﬂmLGh GODHS g,ﬂug,ﬁm@ BQussiuBhEmng?
@) Agrenaiv e 1%, (B) @pHur

(C) GOEETIT 7 D) urﬂa;etrrr@g,ejq,

Which city is having biggest cricket stadium in India?
(A)  Chennai - BV Ahmadabad
(C) Hyderabad (D) Indore

| @pdureie arps parsHe Aufiu serelerer fflEds . dGLIYWD S@LWLELDDETETE?

(A) @EGBTGDIGUT (B) <iswgrunsg
©) oansdyrung D) Qg

Which state has passed a resolution to transfer 17 sub-castes in other backward castes

(OBC’s) into Scheduled Castes (SC) category?

: (A) Maharastra (B) West Bengal

)V Uttar Pradesh | (D) Bihar

@nHwmelleo G%ﬁ_ag, wrhlasde 17 elgwrer 2 Gfley srdamer OBC Gflefld @mps SC Gfleipe
wrHob Qenig) wGsrsr HlanCeaudmiiil L g?

(A)  wanmyresgTT (B) Cuhe eumismemd

(C) 2587 ArCssD (D) - S

15 | DJGS/19
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37.  Who has been awarded Dr. APJ Abdul Kalam Award for meritorious services in the Higher
education department of Tamil Nadu?

(A) L.Narasimman

(B)/ P. Shanmugam

(C) 'S. Suresh Kumar

(D)  Chandrakala Mishra

Ll APJ wyiigidvsand ema s0p BrH <irdlar o wirsoel giennssns SLpaaTL_eursatled wmhesE
cUpEISLLICL g7

(A) L.pyélibwen

(B) P.sawapsibd

(&) S.&Greq @LomT

(D) 7 ghHrseom Wleiqrm

38. The president of International Bank for Reconstruction and Development (IBRD) is
(A)  Mariya Gabriel '
(B) Banki Moon
(C)  Boyko Borissov S
(D)/Ji'r‘n Yong Kim

wnFTenoliy HDILD auerisfléaran siteuCse curud) (IBRD) wen geneveurr
@A)  wfwrsmfue |
B umer & Qg)@b'r

(C) umuGsr Gurflemrey

D) o wriy Hid

39. The Rohingya are the minorities of ;
(A)  South Africa (B)\/Myanmar
(C) Canada (D) Butan

Grrabl BILTéseT ehB e SyLrearenufent
(A)  GgnE puflsr ' B)  Wwrerort
(€©)  searm D) yrmen
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- 40.

41.

42

GST is implemented on which date onwards?

(ANV01.7.2017 (B) 30.6.2017
(©)  02.07.2017 | , D) 03.07.2017
GST <wiwvaéE aups Cadl 61g)?

(A)  01.7.2017 | (B) 30.6.2017
(C)  02.07.2017 (D) 03.07.2017

The first university in India started in the year

(A) 1856 27 A (B)‘/1857-

(C)y 1858 (D) 1859

@pHuredarn (psed LIDEMOE P& Hmeuinl L @ eg)?
@) 1856 ®) 1857
(C) 1858 (D) 1859

Which is the first smokeless city located in India?
(A) Hariyana

(B)“Chan.digarh

(C) Ranchi

(D) Sri Nagar

@pdwreile wpae Lansuilane Qe BaILD eTg)?

(A  flwren

(B)  samgsi
(C)  gmepdl
D) Bpsr

17
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)

43. Oxygen molecule is 16 times as heavy as a hydrogen molecule. The temperature of oxygen.
when its average speed is equal to that of hydrogen at 30 K is

(A) 300K _ ' BM480K
(C) 120K (D) 100K

A SEIRET  APOEEMD @ @Dl Fmer ppeseamemes Gure 16 wLmE seawrag. 30 K
GeutiuBlerauier mapl rneafear syref Gaisgams Curan Cassms Qup salnamisE eaaray
Qeutiublenay GeuaT(HiLb

(A) 300 Qsevedler (B) 480 Qaeveilan

(C) 120 Qacveflan : (D) 100 Qaeeflan

44, Select the effect which is reléted to supercqnductivity from the following
C(A) See back effect .
(B)  dJoule-Thomson effect
(C)  Stark effect
(DP,.Me_issner effect

Supssramuepmer BaLszCor®H AsmiymLw elameremeis Caib0s0
(A)  $Qus efleneray

(B)  grd-smbger eflenarey

(C)  Stark eflenarey

D)  Quueveni eflanerey

[

45. The molecular formula of Chromite ore is
(A)  FeO.CrO, (B) FeSO,.Cr,(SO,),
(Cn” FeO. Cr,0, | (D) Cr,0,

&CrmemwLl srglefler Goudlufwie eumiiur®
(A) FeO.CrO; (B) FeS0,.Cr,(SO,),
(C)  FeO.Cr,0, | (D) CrO0, '

DJGS/19 5 18 : B



46.

47.

48.

49.

~ Which organelle is absent in human sperm

(A)  Nucleus (B)

' (C)«Endopllasmic reticulum (D)

Centriole
Mitochondria

meuﬂg,eaﬂsbﬁ aflhg GFddld @eaawrg Cad memr 2 muL eTgi?

A)  =2ism . B)

(9] eremGLI leTTaaleney _ (D)

do not take part in mitotic division
(A)¢Hetero chromatin N (B)

. (C)  Nucleosome D)

\

(A) Qe Cym @&CrrGlom_ig e (B)

(C) HusetlGur Gembd (D)

Q&Gimﬂ@u_l ey

enwl_ CLmasmerMwm

Euchromatin

Lampbrush chromosome

el Lréev Qg 9Ngaie LkiE QueSademe | |

w&CrmGom_ig e
CeabQyev GCrmCurGemd

Which of the following continents is a region of great biodiversity?

(A) North America
(C) India ’ (D)

(BVSouth America

New Zealand

&Cp Qe priaafe BeslGuflu erelemar 2 ulfer] urellé o 6Ter SBTLLD 6THI?

(A) e QuissT ’ ' B)

(O @pdur S (D)

Qgern =GQwflgsT

BuyevCaem

How many number of viruses are known to cause Hepatitis?

(AN 9 (B)
(&)

8

(D) 6

LDEHEET SMUFFME GTEHSEIET GUENS TGN GEUTEVESET 2 aTL_ma @&l esTmen?

A 9 B)
e 7 : D)

19
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50.  What will be the amount a man would get, if he invests ¥ 10,000 at 9% per annum simple
interest for 3 years? ‘

(A) 12,500 (B): 11,800
(C 12,700 (D) 12,000

@@eur T 10,000 3 <pamgneE 9% safleul g aﬁg,g,,@so Qg)camgj bt (&S EHHE (PpSedH Q&u;g,rr@)
eSS HlanL&GLD Clongs UsTens eeieiere,?

(A) 12,500 ~(B) 11,800
(C) 12,700 (D) 12,000
51. Four different electronic devices make a beep after every 30 minutes, 1 hour, 1—;— hours and

1 hour 45 minutes respectively. All the devices beeped together at 12 noon. They will again
beep together at.

(A) 12 mid night ~ (B) 3am

(C) 6am (D/Q a.m

BITET(S, @@J@G’@Jg WSlehemam) 2 USanThiger eT(plid el @len_Qeuefger pappGur 30 Bdl_riger,
L wanfl 15 wanfl wpmid 1 wenfl 45 HlLL_miser. siaes simeansgib bamLsd 12 Lewll& @, qadlenanTibs
el erplidlenmed, oiBHdg eriiGumLpsy gelenanTibgl gpadl er(pliLid

(A G Grey 12 wewf B)  ap.u. 3 wewf
(C) p.u. 6 waewf D) @p.u. 9 waef
52. Weekly income of two persons are in the ratio of 3 and their weekly expenses are in the

ratio of 5:2. If each of them saves ¥ 300 per week, then the weekly income of the first person
18

(A T 17,500 (B) % 4,500

(o % 6,300 \ (D) % 5,400

@ran® puTsEE@LL ety eumorend 7:3 GTETM Gﬁ]aﬂ,a_v,g;‘éﬂ@m eumy @acc;uaﬁ}emm 52  erep
el HsHEQID 2 drarar. sieuiser @meumGL cumlh mumi 300 Cail&dlemment eranmma (pge (I_T)l_ll'ﬂﬁtﬂ

Ceuny GU(HLDTEITD 6TEUGIATE P _
(A) T 7,500 ' B) T 4,500
(©)  ¥6,300 (D) - ¥ 5,400
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The ratio of two numbers is 3:4 and their H.C.F is 4. Find their L.C.M.

A 12 | (B) 16

©) 24 .. W 48

@ e reimaeT 3:4 arerry eNldlssSler enopbgieTeTer. eummblan B.Qumer. 4 erafléd oeumnbler
5.Qum.o sresr

A 12 p (B) 16

(C) 24 (D) 48

The value of -

‘ \/10+\[25+x/ﬂ)8+\/154+\/225 is

(AN s B) 6
<€ 8 AP D) 10

\/104-\[25 +v108+ V154 + 4225 ar oo

(A 4 ' ’ (B) 6
Cc) 8 , : M) 10

5 men can complete a work in 52 days in how many days, 13 men finish the same work?
(A 52 (B) 26

W’ 20 - (D) 30

5 ol ser e Geuanaenw 52 ;_r;Frl'_a;aﬂeb Wlgliurrgser erefle) ibHs GauamaeniLs 13 oyl &6 eTHGeman

BrLsefled (pigiLr?
(A) 52 B) 26
© 20 ‘ D) 30

21 | DJGS/19
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56.  Find the value of (1000)° +10**
(A) 10,000 , , . (B)/Looo
(C) 100 (D) 10

(1000)° +10* —&n WAL srewTs
(A) 10,000 B) 1,000
€ 100 D) 10

57. A man sells two wrist watches at ¥ 594 each. On one he gains 10% and on the other he loses

10%. Find his gain or loss percent. On the whole |
(A 12%loss (Bﬁ/1% loss
(©) 1% profit : D) 12% p_rcfit

o

B N&&ESIGSTIRIGET eeubleurerannu D 594 @urru'.:éa@ gmeul elpmmi. Geueurm eNHmdle Gandla
10% eruqpd, wHnSH® 10% UL pb, DeuHEE THULLg. QLTESEH0D DieumEE gHuULL @muLDd
SIDVG BU L FHEISSMSH HTawTeLD. |

@)  12%pc i ' B) 1% prLid

©) 1%emubd . D) 12% eomuib
58. The sum of the present ages of a father and his son is 60 years. Six years ago, father’s age

was five times the age of the son. After 6 years, what is the son’s age?
(A) 12 years X - (B) 14 years
(C) 18 years (DY20 years

shens WWHMHID waeafler sHCLTMSL cuwFSatian éh@g,c;b 60 eumLmseT. 6 QUHLBISEHEE@ (e,
ghaguilen auwg wsaflar euwengls Cumed 5 wiLkiE el 6 auBLBIGEREGL ADE Laale auwg

TG ?
(A) 12 eumruser e B) 14 cumLriser

(C) 18 aumLraser (D) . 20 au@pLmiser
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59.

60.

61.

Complete the following :

P,URSTQVO,_____,_

@4 PQ B) LP
© WM OV, M

Spsseam_superm Hlapey Ceus.
P? U’ R’ S} TJ Q) V? O’ _—

A P,Q @ LP
C© WM D) XM

At what time between 7 and 8 will the hands of a clock be in the same straight line, but not

together?
(A) 5 minutes past 7 (B) 51—21 minutes past 7
(©) 5% minutes past 7 - (D)(‘i% minutes past 7

FETTSS D 7_—&5@&; 8- QoL sgsmsda e assman wafluld adi afCr @Gy

CrGam_ige '@@@L.D?
@) 7 pubsl 5 BLseT CB) 7 wpups 5-1% B Ease
. g3 — , 5 o
©  7aprbs 51—1- B (D) 7 apyhs 5H BlSlL_miger

If 75% of a number is added to 75, then the result is the number itself. Find the number
A) 50 . (B) 60
(C“SOO (D) 400

e erewTanflenm 75% o La 75-g dal(HLD Gur@ cﬂq@‘g orer HlevL_&8 gl erefld) b eraRTEnETd: STET.

A 50 -(B) 60

(C) 300 ; (D) 400

23 DJGS/19
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62. How many terms are there in the GP 3, 6,12, 24,.... 384.
 aM 8 ®B) 9

© 10 | D) 11

3::6, 12,94 ... 384 erenm QumESS GasTLfed eTdsamen o mLIysEr o eTeTen?
A8 B 9
(C) 10 : (D) 11

63. Name the Act which ended the rule of British East India Company in India‘
(A)JThe Indian Councils Aét of 1858
(B)  The Indian Councils Act of 1861
(C)  The Indian Councils Act of 1892
(D) The Minto-Morley Reforms of 1909

Qb AHLneer, HipsdpHus sbALalGar o Aeow wioflbe Qe QU 51D aTgy?
(A)  1858-1b oy ® @BSL soydld s> |

(B)  1861-ib yain(® @S sayendle st ib

©)  1892-ib yein®) @pHu sesenfe s Lib

(D)  1909-1b y&( WG el rdBbss L i

64. In Maharastra, V.D. Savarkar .had ofganised the ‘ and . as secret
societies in 1904.
(A) Mang and Ramoni (B) Arya sémaj and Prarthana samaj
(CJJMitra mela and Abinab Bharat (D) Young lotus and white lotus
1904-b yawr®, efl.q. seurdasrt, WwWaTITEYY oSO HmILD 2N
Qar_rmdwu Greawr® gl é{eﬁmmuqasaﬂsh QUWITEENET GT(LHG)5.
‘(A) TR HMD Qyrwme : (B)  <oflw soreb wHmib AgrissenT &mngfﬁ
(C)  WsrGwar wHmb = Gemey LTTS (D) @enb smeny wHmib QeueTeneTsd sToey
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65.

66.

67.

Which one of the following is the longest National Highway of India?

'(A) NH 5 _ (B) NH 6

(CN” NH 7 (D) NHS

QetreupLeeupmier @bslwrele Barwmear Caslw A (HEreTena eT8)?
(A) NHS5 - (B) NH6é6
(C) NHT7 (D) NHS8

Which one of the following statement is not correct?

L. Rajasthan is the largest state of India in area /
II. Madhya Pradesh is the second largest state in India in area .
III. Maharashtra is the third largest state in India in area '

IV.  Karnataka is the fourth largest state in India in area

@ I SRR B) 1I

© 1 | OMTV

ELDSETL 6D MIET H6UMTEm Sahyl 6TH)?

L' @pdwureder ugliueredier @glinentuiled Wsl@uflw wrbleon Un’g@fure_r)n‘-s&r

IL wiHw ArGsen @rammeug WaiGufu wrblowb @bHureien Lrliuaeaia
M.  wsrmesiqrb eparpreug WalQuw wrlon Gbgwmeier urluerese

IV. siprLsn pransreugl Wasi@uilw wrflen @bdHureler Lrluerele

@ 1 (B) II
(C) I D) IV

Which is the largest rivers of South India?
AN Godavari '~ (B) Mahanadi
(C) © Narmada (D) Tapti

Gger @pHwmeler WauGQuilu <ym erg?
(A)  Cargmeurl (B) ma;rr{fﬂg%]
©) Biwes D) susd
25 DJGS/19
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68. Cirque 1is, closely associated with
(AN Glacier .' (B) Wind
(C) River (D) Groundwater

&ﬁé; ergGenrm(h Qg,rr;r'h_;cm_mg,] :
(A  ueflwry ' (B)  smHm
© <o , | D) Aessy B

69. The Atherva veda is related with ;
(A)  Yajnas | (B) Poojas
(CVDemons and spirits (D) Worship of gods

<3| & TEU emT (Seug,Lb LSl 6T (T GL GTEU D M) 6T é‘rg;@l..ﬁiﬂ QLT jenL_wig)?

(A)  wrshiser B) Yy apermaer

C) ysb wHHD Cul elsar (D)  sLeyemer cuamTIGLD (LPEDESET
70.  The earliest evidence of man in India is found in

(A)  Nilgiris - - (B) Siwalik hills

(C) Nallamala hills (DM Narmada valley -

 (whHensw & walgTaar Q) mbssnanear sreamm (S wib) @bSHwrelled ermi @ ererg?
A) Bl : : (B) Seuneds wepevser

(C)  pevewmeT EHESET : (D)  phwens LETTSSTES

71. Who was fhe author of “Yoga Darsana”?
(A) Gautam Rishi (B) Kannada Rishi
- (C) Badarayana : (Dwatanjali

“Cuins gflgeand” eremm mrene ér@ﬁlm g SIflwm wmi? :
(A)  Gaergw Mad (B) seanenm Mad
(C)  usyrurent - (D) usepsd
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72.

73.

Who was the founder of Atmiya sabha?
(A) - Ishwar Chandra Vidayasagar
(C) M.G. Ranade

< HBIWw gureneu Hlmiefluieur wmi?
(A) reveui by efSwreras
(C) g prenGi

(B]JR'aja Ram Mohan Roy
(D) Devendranath Tagore

(B) @umgm b C‘SLD_rra;eirr Tml

(D) CslaupSrbrs snaaf

Match the List I and List IT and select the correct answer by using the codes :

List I
(a) Vernacular Press Act of 1878
(b) Indian Universities Act of 1904

‘(¢) Indian Councils Act of 1909

(d) Rowlatt Act of 1919

(a) () © . @

A 1 4 3 2
B 2 3 1 4
(C) 3 g 1 4
(ON"3 2 4 1

1

2.
3.
4

List II

Lord Chelmsford
Lord Curzon
Lord Lytton
Lord Minto

L gwied I -6 o aremens L igwie I1-a 2 Lar Qummgs sflwiren sflenL_enis Caib0s[H&ESa|D.

L iguted I
(@) smLALMA ugSisms s Lib 1878
(b) @BHw us‘uasmsua;%pss‘&l'_ub 1904
() @B & slib1909
(d) Qrerel s L1b1919

(a) (b) (©) (d)

@A 1 4 -3 2
B 2 3 1 4
© 3 2 1 4
D) 3 2 4 1

27
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74.  Administrative tribunals deals with |
(A)\Article 323 A ' (B) Article 232 A
(C)  Article 132 A (D) Article 356

Bireurs Sriumu erbs eAfluden g liueL e o meurssli L g

(A) 94 323 A (B) &4 232 A
(C) &4 132 (D) <94 356

75.  Which one of the following is not correct with regard.s to salary
(A)/Go.vernor_l ' - Consolidated fund of India
(B)  President - Consolidated fund of India
(C) CAG — Consolidated fund of India

(D)  Supreme Court judges. - . Consolidated fund of India -

ECip Qar@asiur Peraraeiseicn T8l HEUM : FOUGTLD SIDLIGSLONS

@) ep@pn : - @pdu Gsrgiy HHud

®B)  @yurs gmae —  @pdlu bsreiy HFun

©)  sarse wogb saflsos sowar  —  GhSUGstely HHub

D) b Buodm SHuSser - @bHuGsreiy A
76.  In the India Federalism, with residuary powers are with

(A)  State Governments ' (BMCentral Goverﬁment

(C)  Both central and state Government (D) Local Government

@pHw gL Hufled, ergrdw cc’;@a;rrqréjgmm‘&, g,sin@uaib aneuS S (HLILIE?
(A) WmHleY SFFTHIGD (B)  wsdw sypermisid

(©) wsdu-—wrHle S| TETRISLD (D) o cmerm_ & opFriisDd
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78.

79,

The term ‘guillotine’ means that the speaker
(A)}/stops the business on hand and puts the matter to vote
(B)  adjourns the house before expiry of the time

—

(C) - disallows voting on a motion

(D)  reprimands a member for misbehaviour

‘Gléveol g e eTengntd Qe SITESD ; EUTHTLSHT

(A)  wOP SiGIEILEMET (Pig ey dE blamerr(H eubg, éurré;@as@ﬂ@g:)@ ApEmm
(B)  smlLjASMLT PaISEE UGUSHE (e souDL @l @asdpni

©  ionan Asnamapashe Sipid LpUUS |

(D) saupren pLpmpaL B

In India the first Municipal Corporation was set-up in which one among the following?
(A)  Kolkatta BV Chennai
(C) Mumbai : (D) Delhi

GBHwreiled WPHET (LPHETE 6ThIE THSTTL& Camearr (hHeurliul L g ?
A)  Gsresssm - B) . Qeemenen
©)  apbenu . (D) QLad

The meetings of state public accouﬁts committee are assisted by the
(A) Co.mptro.ller and Auditor General of India
(B)  Speaker of Legislative Assembly

l(C)/ Accountant General

(D; All of the above

wrble CQung sevrésmiie]d G sl L b sl L wimpmed &g,eut;u@éﬂmg;]?

A)  @rFu semssT LHNHID SEflsms Hen Senaeul

~(B)  wrfle slLsemu sumBILUST

(C) soeamn samdsit

(D) CuwGe 2 drer Henanggib

29 k - DJGS/19
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80. | The new symbol of Indian rupee is blend of . ; 7 _
(A) Latin and Greek - (B)%)evanagiri Ra and Roman
(C)  Rajasthani and Samaskrita Bharati (D) Hindu Arabic

Ppdw mumliler yfu s wrerd GHluil - Gomfl urhlssiul L et eumiblorss
glanL_&sm@Lb. : SEE
A) @wsseropph 8Crssn 0 - (B)  Csaardf gr wpmib Gyroen

(C) @rmgausred whmb swedms Lmrd (D) @bs - <2Cnis

81. Match the years given in Column A with the Nationalisation of sectors in Column B :

Column A Column B
(a) 1969 1. Nationalisation of wholesale wheat trade
(b) 1980 2.  Nationalisation of 14 éommercial banks
(c) 1949 3. Nationalisation of RBI
(d) 1973 4. Nationalisation of 6 commercial banks
¢a) (b) (©) (d)
A 2 4 3 1
® 2 4 1 3
© 1 3 4 2
D) 1 2 4 3
Yereu(meuameupenmil QUImmSSIs :
_ By A ' : By B
(a) 1969 1.  Qwrgg Gergiens Qamearipge Hr(HiLemw
(b) 1980 2% 14 cuanfls mmﬁﬁﬁ‘an@Lsmm l
(c) 1949 3. T8 THLGOLD
(d) 1973 4. 6 cuentla cUMRIESET B THL_nLD

@ ® © @

NI 4 3 1
®) 2 4 1 3
i T 3 4 2
D) 1 2 4 3
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82,

83.

Match the fbllowing :

Period ‘ Total Population (crore)
@) 1971 - 1981 1. 844
(b) 19811991 2. 685
(© 1991 - 2001 gy’ 10
(d) 2001 -2011 4. 1029
Y (b) (c) (d)
@ 1 4 3 2
BV 2 1 4 3
(C) 4 3 2 1
D) 3 4 1 2
Wemeuhauareupepl QUTHSSIS :
| Sreld - ' @mﬁgg w&&6aT Qarang (GCamg)
(a) 1971 — 1981 1. 844
(b) 1981 — 1991 2. 685
(c) 1991 — 2001 3. 121.0
(d 2001 - 2011 4. 102.9

(a) (b) () (d)

A 1 4 3 2
B) 2 1 4 3
(C) 4 3 2 1
D) 3 4 1 2

How many cities in Tamilnadu have ‘been short-listed for the second-stage of smart cities

mission? _
A 4 T (B) 10
© 17 " ‘ OV 12

wen M peler B&yr Qubssdbets QramLmbd sl sl SOIDHTL g G)IGTET ‘r_r)ésurm;sh -mggmm

Gairey Qeiiwliul(Hereren?
@ 4 “(B) 10
(€)1 D) 12
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84.  As per the cleanliness Audit released by the Government on August 13 2018, which railway

station bagged the top spot in 20187 ' ' »
(A)  Visakhapatnam ‘ (B)‘é)dhpur
(C) Tirupati | (D) Howrah

QTFTRESSTD psevl 13 2018 janmy Geuaflud G L &gggg‘,]ﬁ)é;rrem pieileriiy, erhs @ruied
Heveowid s @Lsas 2018- ﬂlq‘s.@@j?-
(A)  efersuligeanid g B) Gyt

©)  Hmuud s Ca i yE D) ameygm

85. Which state is the first cyber police station in India?
(A) Tamilnadu : (B)\/Maharashtra

(C)  Odisha ' ; (D)  Bihar

@pdlureiler erbs rBlesdlad (pgen (PSOTE OELIT HMTEUED Blepawib Agrrasiiul Lg?
@) 58P0 B) * waitreag
(€)  gflsr | (D) Sanir

86.  What is the time duration of the song National Anthem?
| (A) 50 seconds (B) b1 séconds

(CM52 seconds (D) 53 seconds
Casélw &z um_aler CrID eTeuauemay? .

(A) 50 cflemmgaser o (B) 51 earmiqsen

(©) 52 femmgaer - _ . (D) 53 eflamgser
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88.

89.

How many Member countries are in ASEAN?

@ 8 | ‘(Br/u')

<€ 1z - . D) 14

Qgendlps@ < prisaiern shasa (ASEAN) ersganen br{Hiser ggjﬁ@ﬁmr’r&;mrr&; o_grereu?
@) 8 | | B) 10
(o A S o D) 14

The largest atomic Research centre of India

(A) Variable energy cyclotron centre

(B)  Centre for Advanced technology

(C) Indira Gandhi centre for Atomic Research
(D)\/Bhabha atomic research centre

@pSwurefear WasLQufw cﬂq‘@m SLIMUES eowild
(A)  wrmssner eavsGam_gmer epowb |
(B)  Guibul L Gsmfdn usShsrear e
© @b enpd oigm 2pymiIEs ewwid

(D)  urur g @, TmLES ewwid

India's first full fledged sport university will be set up in the state

(A) Haryana | _(BS‘/ Manipal
(C)  Kerala (D) Punjab
Qidumellen  (prp e N@emUT HESETEr  LDSMQEHLHED wrblevgdled
SDOEGSHLILIL 2 _6TeTS)? :
(A enflwmerm (B)  werflume
(C) Csgerm . D)  uepsma
33 DJGS/19
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90. Who is the first women vice chancellor for sports University in Tamil Nadu
(A)  Sheela Nair 7
(B)\/Sheela Stephen
(C)  Vijayalakshmi
(D) None of these

- SUPBTLIged 2 L paeed LHMID eflenemim’_(h UosmOESPESIe (pge e gena CeupbgT wiri?
(A)  efeor prw
(B)  eSeor vieLien
(C)  ellgguel gl
D) Qeunmler ggudleene

91. India's largest public Wi-Fi service has been launched recently in which Indian Sltate?
(A) Karnataka ~ (B) Haryana
(C©) New Delhi OWMMaharashtra

@@@u_lrraﬁlau THS mnf,]wg,g%]a) LD&ESET uu.:emurru:}g)a;rra; Wi- f1 awsfl <igls gsdnarean Geemey

Ggm_rslul’ (Herarg)?
(A)  simpTLST B) enflwuremm
(O yggeoa (D) wsmyTeyg T
92, Whose birthday anniversary is celebrated as the International Day of Non-Violence?

(A)- Nelson Mandela
(B) Abraham Lincoln
(C)ﬂ/lahatma Gandhi
(D) Martin Luther King

Spsar_euisafld®  wr@meLw  Gp6s g;ﬁsmm sieuGge  Sellgeurg oy Senors
QarawrmLu@dmng? ) ' :

(A)  Qpevear wearGLem

(B) ulramd edlmisen

(C) wsarswraH

(D)  wringer graT S
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93,

94.

95.

Which city in India has launched a mobile application for women's safety while travelling in

train? :
(A_?/Mumbai ' . (B) Chennai
(C)  Kolkata : - (D) Bangalore

@pduned aps paTEHD g aors nile vueilsen Gurg Guansaer urrgjasfrumu 2 mé

Qe Qureaus oitellCsager eiflwpasliu@SsLIULLE
(A)  wen _ (B) Qseenenen
(C)  soss5sT L, B (D) Quiisenm

The neutrino hés

(A) Negative charge and half spin
(B Zero charge and half spin

(C) Posiﬁve charge and integer spin

(D) Zero charge and integer spin .

Bl AGerm QupdlmLug

A)  afir Bergmn b wpoid iy SHERDHS
(B) s W@ b wHHD iy SHERDHE
©  Gpit Bdrgri b wppib (e BHaPHA
D) sl BT Lb ORI (P SHeHS

If the voltage gain of an amplifier without feedback is 20 and with negative voltage

feedback it is 12, then the feed back fraction is

@) 53 N B) 35
© 1/.5 (D)“0.033

Wemggm L ibléveor e Guimadludien Lé]éTGﬁT@gjg, Qu(pés erer 20 et Wemenr L ib GarH&siu L
Wew siger Wleen (PSS @u@é;a; ereur 12 erafley e L (Gevrer wllienLs Sresrs

(A) 573 . | (B) 3/5

© 155 (D) 0.033
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96.  Match the following List I with List II and choose the correct answer using the codes given

below : .
ListT List 1T
(a) Chloride . 1. Constituent of plastocyanin
(b) Zinc 2. Enzyme activator for photalysis
(¢) Copper - 3. Necessary for translocation -of sﬁgars
(d) \.B(‘)ron 4. '

. ‘Essential for the biosynthesis of [AA

(a) (b) (c) (d)

A -2 4 3 1
- (BM 2 4 1 3
<€ 4 2 3 1
™ 4 3 2 1
| ECup @a;rr@&;a;uuu@errm utiqwed I e er ulquwe I & Qummgss. @@ﬁ@&@fﬂe&@p@ aflwumer
eflenL_anwis Camb6s0H
UL iguied ul;lq_msi) IT .
(a) ECameny@ : L IQQTHQDGLWEUJGGﬂGﬁT o _Glummer
(b) ohlm 2. gafllGergseilen Qprd Qewdu@eausnE '
(é) STLIUm 3. &ﬁésa;sml;r@LﬁQuuﬁaﬂm@@eﬁﬁmmwuwgg
4. IAA 2 Gflwe GordamssE weHureang)

(d) CGumgmen

@ (b . (© (d)
(&)
(B)
(©)
.(D)

rhl»bl\')ll\:}
W N =
- e

97. The resolving power of normal eye is
AWV 100 4 o ® 1,000 u
(C) 650 u : D) 10 u

FTHTIERT Weslls seamaflen LGS Den eremLig)
(A) 100 u ' B) 1,000 u
(C) 650 u | " 1 D) 10 u
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98. What is the normal pH of human blood?
Ay 1 (B). 7.6
(V7.4 D) 6.8

weflg Qrssssle pH wdliu wrg?

A 7 (B) 7.6
) 7.4 ' D) 6.8

99.  Non-volatile covalent nitride, AIN undergoes hydrolysis to give
(A)  Aluminimum '
(B) Aluminimum hydride
(C)«Am monia and aluminum hydroxide

(D)  Aluminium and ammonia

araflflér apefunsng sELiblenanTiiL) aBbLepTL 6 AN, Srmhu@liy SiLbg darGuugl
(A sigflaiun

B) e@udalub aan’ ik

(C)  <wCuraflur whmb sablafub amanFrémen(
(D) sgdalub wHmid ©|bCwreflwur

100.  Which of the following reacts with phenol and produced bakelite?
(A  (CH,0H), (B) CH,CHO
(W HCHO (D) CH,COCH,

9 eneu(meuaTol DMIET eraeL e Lamme Gehg GLbame 2 (Heurdlma)? |
(A) (CH,0H), (B)" CH,CHO

(C) HCHO (D) - CH,COCH,

B |
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Read the following instructions carefully before you begin to answer the questions.

10.

11.
12.

13.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.

This Question Booklet contains 100 questions. Prior to attempting to answer, the candidates are
requested to check whether all the questions are there in series and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed, it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination, it
will not be replaced.

Answer all questions. All questions carry equal marks. .

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your, Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet. .

In the Answer Sheet there are four circles (&) ,®, © and @ against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows :

®O® 00

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded, you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final. _

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. o

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.






